- (=FH) H88
A (BB (@) WE= R HE B —
& Fit VAR - B B = JR A 7 I
& K| R JA B IR wESme 2 Y
& B S

s M
~~n  WREEEE

\§
o mEEE [~
o ARIC

2 -

S BEICT Yl ;
i SR e o SE 7 ~ AR pRE i
‘7<\/i(0 v—— o \' NS - Fsl\.%JC (f@Ilm)
: B > =H A “ - WAL
2 2 (REBT) 1 5 7 7 g HEELBS 2R

MR R T IR i - . pygi&
o=—F Vo ___0 5

(,no.:.:-o/

FLOVERIBZESDS!
BBEXE717HAH

22 - EERREY

WILEFvo VA

A2 #7154 2E
HEIRBR-RESLT 2 < oo e
k JRUIIBHER 1114 % 8/13~16,12/29~ 30144 2 % = REBF vV RANDNREE
% B e o o BRHEHDOFER- MR
’K $ ER 97:/_ m‘lsﬁ o I
% ,ﬁ INZR #9205 $ @ kHRO
Ry i ) A AR, SRR K 2. R P, B,
o2 JRILEGAR #9304 {k} 1;[% E AR #9155 =2 thu M E e
?; gﬁ pie ’%E :F ....................................................................
ol 1 = s O KFEO
RIS S p% RORIEE, AREE
10 YLIVNR B ° =
{é 25 %/156} 7 IX\ ................... B
n # | | & O K ¥R
t g ® | & TSI, ARSI, R S, EREE,
£t RIS BENAR(EBAREY5—% 19605) PN ]
KB BEE 1920~255 o I BEE 1920~255 o
gl BEEE VISR ;;E% » [ mmic YN -ESILPY
a2 S 5 =4
B v N A KPR
| #92.5km Rxm%hﬁgﬁfm%ﬁﬁ»
R 25
YLTVISR i RR(EBODIL—FHED, £
A BREREOT -8 INCERNE TN T x
E #9455 L= #9155 & &
e ER W 5] NR o - &
& B = (R A (5 B AR
# 155 e #9155
g i )
15
- o
WTHFv VA
HREE (RERTEREEE B ST 1304
(B8 s
0] A E 7 |4929
5 T w | & b
i} i = || B
R _d - = (R R R EBRS
YLAYVAR ] N GEERT I — 5 HET) 124 . REARIEA L BERTT
5 (BBRHSROT) 5 o ) A ) &% ?E 1 (FFELE BT
E 1045% NS 1 S = 7 (1022 e #9255 /N
:UE n% Tﬁ ﬁ ;IIIIE",- E] g .\—, SS %
= o = e &
il RREBODIL—FEBD) 165 A
® om =P 2
o &S
A = A |35
& i B
i
= A

82

J o

[V

A

(B O Tt

e

~
~o

AN

S0 > - 2

S A A — S

MENFIN-N




[RFDERRDSEFv > /\RAFTOHEME]

\?zr-af.&‘rp
T

AER

JRETEBR NI
RARS -

ey




A97)YHRP
30 S2 303

173y E

TITTTTTTTTTTT
(163

58 S2 161

—

T A

(166) c 1,182
55 S9 4,949

097)

|
|
|
L

e
kS
=
°
=
=

O

j—

2,057

=)
TITT T I T T

b
B8R pre Y E

7 | it R AR ggg 20 E am
51 RL 7. E 56R2 1,103
E 2R 125
EJ\\H\HH\H\H\H E 26 52 264
ST

P 47 $+1 100 178

59°R2
25

43 R7 10,326
15 s2 280

|

DooBDos Voo Poe®

(119)
45 SR9 8,401
19 SR9 177

2

(159)

55 SR3
1,583

169)
56 R2 2,382

) ¥
[TTTTTIT] 1 o
= 3 59 S179  (181)|
.- 54 I L
E | 7.7m
KKKK o[ o
O
E as) g
E 2t o
EHHH\HHHHHHHE
<€
...
g T ) ]
3 982 E
45R2 3 E
1,750 E
E aire J E
F oo 3 E
wunnd ﬁ

T
(158)

2
55 SR4

1,758 (200) (

4 S5 3,859

e

I m| I |
s O I g I |
= 1
a4y E I
58 R2 130 — E ;
E = I
E — K T TITTTT I AT T ITT T
] E é@é (50) 54 R3 2,061
™ E 52 R2,3,4,S1 6,338 +
E 53 R3 -
FTTT E 3
E 179 3 E 193 60 R1 343 I
IE E 25 R5-1 38,554 E
|| E 50 rd E
4| |E726 3 E - ><F
3 E 60 E PJE
E FR3,51 = E
31| Esto E E
3 T E E
E = E W S
3 Ehluwuuwuwuwu\u\u\uu\u\u\u\u\u LU (151) | E
Tl 52 R4 5,891 E
5353 140 E

(186)
13 R3-1 1,876

P=5

@87
14 SR11-1 38,365
26 BL 48

P62

TR I T
44 R4 1,205

‘\%igiguwH\H\H\H\H\HH\H&H\H\H\gwuwuwéfjJ
s ARG AR

T

©79)
NI

3Rl 8

(028)

38 R4
3,650

[}

T
(@125)

[ T ] P

45 R2 311

= (033)
E (%) 42 R1 1,008
E (032)
E 41 R1 990 E E
E 3 R6 3,986 L
E ‘ i
= =
= E NP
= (190) (189) (030) g]
2252 1,490 20 6 3,992 43 SR8 9,436 3
= MU
P=] L [} ‘ “ “ “ “ “ “ ‘ “‘ “ “ “ “ “ +4J

S=1/2,000

14 S1 256

e

. W

P76

{NNANNARREERENNANANANN

144,701

52,129

219,458

36.0

152.0 2,737

009

0336




	校地校舎等図面



